## Bihar Museum, Patna

(An Autonomous Society under the Department of Art, Culture & Youth, Government of Bihar)

Nehru Path, Patna-800001

## Notice Inviting Tender.

Percentage rate Tenders in single bid system are invited for the following work at Bihar Museum, Patna from registered contractors. Last date of submission of bid is 19.03.2025 up to 3:00 pm. The bid will be opened same day at 3:30 pm. The detailed information can be obtained from the office of the Director General, Bihar Museum, Patna on any working day. Bid documents can be downloaded from the website http://biharmuseum.org/http://prdbihar.gov.in/https://state.bihar.gov.in/yac

Sr no	Description of item	Unit	Qty.	Estimated Cost in Rupees	EMD In Rupees	Cost of Bid in Rupees.	Time of Completion
1.	Fabrication and Flooring work for construction of dumping yard in Bihar Museum, Patna	Set	As per BOQ	4,95,922	2% of Quoted Amount	750/-	30 days

- 1. Quoted rates will be inclusive of Labor, GST, Transportation and other Charges. GST, IT & Labor Cess, Security Deposit, Royalty etc. shall be deducted from the bill.
- Bidders shall submit Registration certificate, PAN, GST registration, Character Certificate etc. with their bids. Rates shall be quoted in the given financial bid format properly signed and stamped. All enclosures will be signed and stamped by the bidder.
- 3. Bidders can visit the site for assessment of works to be done.
- 4. EMD will be Two percent of the quoted amount as per F2 agreement. Five percent of quoted Amount shall be deposited as performance security at the time of agreement. Five percent will be deducted from the bill.
- 5. The cost of tender document is non-refundable, and it should be in the shape of Demand draft from any nationalized bank, payable in favor of "Bihar Museum Society, Patna" payable at Patna. Original Bank Draft along with signed bids in a sealed cover with name of work and bidder's details and EMD (in original) shall be submitted at the office of the Director General Bihar Museum, Patna till date and time of submission of the tender.
- 6. Earnest money (EMD) shall be in the form of Bank Guarantee/Demand Draft/NSC/or as applicable under BFR duly pledged in favor of Director General, Bihar Museum, Patna. Original EMD along with signed bids in a sealed cover with name of work and bidder's details shall be submitted at the office of the Director General, Bihar Museum, Patna till date and time of submission of the tender.
- 7. The quoted rates shall include all cost to supply of material and labor and execution of work. Defect liability Period will be 01 years.
- 8. Bid validity will be 120 days.
- 9. The bidders shall submit bids in sealed envelope with name and address of bidders and the name of works clearly mentioned. Bids complete in all respects with enclosures in a sealed envelope is to be submitted by Speed Post/Registered Post/Courier or by hand only at the Office of the Director, Bihar Museum, Nehru Path (Bailey Road), Patna 800001. Bids received late/ without EMD/Cost of Bid/Conditional bids/Incomplete bids in any respect shall be rejected.
- 10. Payment will be done after sanctioning of competent authority and availability of fund.

11. The Director General, Bihar Museum, Patna reserves the right to accept or reject any or all tenders without assigning any reason.

(Additional Director-Admin)
Bihar Museum

Memo No. - F. F. 188

Patna, Dated: - 21:0.2:.2025

Copy to – The Director, Information & Public Relation Department, Bihar with 08 (eight) additional copies of the advertisement and CD for publication in local & national dailies.

(Additional Director-Admin)

Bihar Museum

Financi	ial Bid Sheet
<b>Work Name</b> : Fabrication and Flooring w Museum, Patna.	ork for construction of dumping yard in Biha
Name of the Bidder	
Address of the Bidder	
Contact No. & e- mail address:	
1. Estimated Cost: - Rs.	4,95,922.00
2. Cost of tender documents: - Rs.	750.00 (Non-refundable)
3. Amount of E.M. to be deposited Rs.	2% of Quoted Amount
4. Time of completion as per N.I.T: -	30 days
5. Date of receiving tender: -	As per NIT
	sed items of work & other connected papers for instruction of dumping yard in Bihar Museum, on: -
(a)The	enclosed estimated rates
(b) Above (in words)Per	cent Above the enclosed estimated rates
(c)Below (in words)Per	cent below the enclosed estimated rates
(strike the two which a	are not applicable)
(e) Earnest Money amounting to Rs	In words
f) Post office saving pass book No	

Duly pledged in the name of Director General, Bihar Museum, Patna is/are enclosed here with.

/N.S.C./DD No....

Signature & Stamp of the tenderer.

## For Office use only

Date of Opening Tender	••••••		
Paper Attach. (1) RC.	(2) G.S.T.	(3) Pan Card.	(4) Other
Quoted rate%		in words	
Deposit E.M.D. Rs		In Words	
Cuttings			
Overwriting			

Tender/Purchase Committee
Bihar Museum, Patna

/	Bill of Quantity							
Su b	Fabrication and Flooring work for construction of Dumping Yard in Bihar Museum, Patna							
Sr. No	BSOR 2022- Ref	Items	Unit	Qty	Rate	Amount (Rs)		
1	16.83	Taking out existing CC interlocking paver blocks from footpath/ central verge, including removal of rubbish etc., disposal of unserviceable material to the dumping ground, for which payment shall be made separately and stacking of serviceable material within 50 metre lead as per direction of Engineer-in-Charge	Sqm	141.2	61	8616.25		
2	16.84	Laying old cement concrete interlocking paver blocks of any design/shape laid in required line, level, curvature, colour and pattern over and including 50 mm thick compacted bed of coarse sand, filling the joints with fine sand etc. all complete as per the direction of Engineer- incharge. (Old CC paver blocks shall be supplied by	Sqm	141.2	70.8	10000.50		
	N.	the department free of cost).		73.4		(State of the		
3	2.28	Supplying and filling in plinth with local sand and under floors including, watering, ramming consolidating and dressing complete.	Cum	21.19	287.3	6087.17		
4	11.72	Providing designation 100A one brick flat soling joints filled with local sand including cost of watering, taxes, royalty all complete as per building specification and direction of E/I	Sqm	141.2 5	283.3	40016.13		
5	5.1	Providing and laying in positions specified grade of reinforced cement concrete excluding the cost of centring, shuttering, finishing and reinforcement-All work up to plinth level.	, lu					
	5.1.2	1:1:5:3(1 cement: 1.5 coarse sand:3 graded stone aggregate 20 mm nominal size)	Cum	13.91	4688.3	65196.67		
6	6.1C	Brickwork with fly ash bricks as per IS12894 (2002)& IS 3495 in foundations and plinth in :	Petron		1.477			
	6.1.12C	Cement mortar 1.:4 (1 cement: 4 coarse sand )	Cum	0.60	5116.3	3069.78		
7	13.11	Cement plaster in coarse sand 12 mm cement plaster of mix:	her m					
	13.11.2	1:4(1 cement :4 coarse sand)	Sqm	5.20	152.9	795.08		
8	5.22	Reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete.	Mo of the			1174.14		
	5.22.7A	Thermo-Mechanically Treated bars TMTC-500-8mm dia.	Kg	250.0 0	94.5	23625.00		

9	10.32	Steel work welded in built up sections/framed wor including cutting hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel, etc. as required.	k			
	10.32.2	In gratings, frames, guard bar, ladders, railings, brackets Gates & similar works.	kg	600.0	114.6	68760.00
10	12.65X	Providing & fixing at all heights, level sand locations colour finish Aluminium alloy roofing sheets of alloy IS designation 31500, temper Hx8 conforming to IS 737 and dimensions asper IS code 2676 with characteristics of good formability and corrosion resistance. The profile sheets shall be fixed to truss members in slope or required pitch or curvature with Hex cap headed self-drilling/tapping Stainless teel screws M6, 60mm long with 3 mm EPDM seal washer etc. all inclusive of labour, scaffolding, T&P and sundries etc. complete as per directions of the Engineer-InCharge. {Cost of truss/frame work shall be paid separately}.			is not an analysis of the second seco	at many a
	12.65X. 3	0.91 mm, Aluminium Colour coated troughed profile with centre-to-centre pitch of 200 mm, depth of 32 mm, overall profile width1092 mm, cover width 1000mm.	Sqm	79.8	2103.8	167883.24
11	13.93	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade:			Voiet	VI TOTAL A
	13.93.1	Two or more coats on new work	Sqm	150	84.5	12675.00
12	10.33.7	Labour for cutting of M.S. angle iron post to required length, one end splitted as fish tailed in a length of 150mmcomplete as per building specification and direction of E/I.	Nos.	12	28.2	338.40
13	0L01	Providing unskilled labour for removing barbed wire fencing safely and cleaning site and other miscellaneous work etc. complete as per direction of Engineer-in charge	Nos.	15	405.35	6080.25
14		Carraige of material				
		Stone Chips	Per Cum	11.67	2454.7	29646.25
		Sone Sand from Koil war (Coarse)	Per Cum	6.08	1161.8	28646.35 7064.05
		Brick	Nos./1000	4.852	1109	5380.87
		Local Sand	Per Cum	23.32	310.45	7239.69
15		Extra cost of material			1	
		Cement	No. of bag	114	13.15	1499.10
ai l		Brick	Nos./1000	4.852	1590.9	7719.29
		Total Amount				470692.81
		Add @ 5.36%				25229.13
		Gross Total				4,95,922.00